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.3x*+10x+8=0
oL IL3y*+7y+4=0
(@3 x<y
(b) I x<y
() x 3R y& &g gayr AURa A& Far 1 Ihdar &
(d)IEx=2y

(&) I x>y
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12x*+21x+10=0
Q2. 1.3y + 13y + 14=0
(@3 x<y
(b) e xs<y
() x 3R y& &g gayr AURa A& Far a1 Ihar &
(@3 x=zy
()T x>y
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Lx*+x-12=0
Q3 II.FZ‘PZF—B:U
(@3afe x<y

b)IE x<y



(c)xﬁ?y*ﬁmﬁﬁﬂﬁﬁﬂﬁ%mmm%}
(I x=y

()T x>y
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I 4x3 ~13x+9=0
2— =
0a 11377 - 14y +16=0

(@I x<y
M) afe x<y
(c)xﬁ?y*@ﬂmmﬂﬁmmmg
(dafg x=2y
()T x>y
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[.8x*+18x+9=0
a. 1L 4y% + 19y + 21 =0
(@3fe x<y
M) afe x<y
() x 3R y& &g ey FUIRT A8 fFar ST IFhar &
(@3afe x=y
()T x>y
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1L3x°+16x+21=0
Q6. 1. 6y° + 17y +12=0
(@3fe x<y
(b)afe x<y
(c)xﬁ?y*@ﬂmﬁﬂ‘fﬁﬁﬂﬁmmmg
(@3afg x>y



(@3f& x>y
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[.16x°+20x+6=0
o T10y7+38y+24=0

(@3fe x<y
M) IfE x=<y
() x 3R y& &g gey AURa agr frar s a@ear §
(@3Ifg x=2y
(e)Tfe x>y
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.8x% +6x=5
s 12 -22y+8=0
(@3 x<y
(b) e xs<y
() x 3R y& &g gayr AURa A& Far a1 Ihar &
(@3 x=zy
()T x>y
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I.17x*+48x=9
. II. 13y? = 32y - 12
(@3 x<y
b)Ig x<y
(c)xﬁ?y*@ﬂmﬁﬂ‘fﬁﬁﬂﬁmmmg
(@IfE x=zy
(@3 x>y
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.8x*+26x+15=0
q10. II. 4y* + 24y + 35=0
(@afec x<y
M) afe xs<y
() x 3R y& &g gau AuiRa F8 Far a1 Ihar &
(I x=y
()T x>y
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[.6x°+19x+15=0
Q1. I1.24y% + 11y +1=0
@3 x<y
M) afe xs<y
() x 3R y& &g gau AuiRa F& Far a7 Ihar &
(@3afe x=y
(e)Tfe x>y
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L2x*+11x+15=0
Q12. IL.4y* + 22y + 24 =0
(@3fe x<y
b) I x<y
(c)xﬁ?y*@ﬂmﬁﬂ‘fﬁﬁﬂﬁmmmg
(@I x=y
()T x>y
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.2x*+9x+9=0
013, IL2y*+ 17y +36=0
(@3 x<y
b)Ife x<y
(C)XB-ﬁTya?Eﬁ?‘rWﬁﬁﬂﬁ?fﬂﬁﬁmTaTW%
(I x=y

()T x>y
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I.5x+29x+20=0
I 25v? + 25v+6=0
Q14. y y

(@3fe x<y
b IE x<y
() x 3R y& &g gey AURa agr frar s aear §
(@3afg x=y
()T x>y
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L3x*-16x+21=0
Q15. II.3}"2—28}'+65=U
(@3 x<y
(b)afe xsy
() x 3R y& &g gayr AURa A& Far a1 Ihar &
(@3afe xzy
(@3R x>y
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Solutions



S1. Ans.(b)
L3x*+10x+8=0
=3x+6x+4x+8=0
=x+2)(3x+4)=0
> x=-2,-4/3
IL3y*+7y+4=0
::.3};2+3:,F+4-}F+4=D
=(y+1)(3y+4)=0
=y=-1,-4/3

=X
Sol. y

S2. Ans.(c)

L.2x* +21x+10=0
=2%x+20+x+10=0
=(x+10)(2x+1)=0
=x=-10,-1/2

IL3y*+13y+14=0
=3y +6y+7y+14=0
=(y+2)(3y+7)=0
=y=-2,-7/3

o). No relation

S3. Ans.(c)

Lx+x-12=0
=x+4x-3x-12=0
=(x+4)(x-3)=0
=x=3 -4

ILy*+2y-8=0
=y +4y-2y-8=0
= (y+4) (y-2)=0
=y=-412
Sol. No relation

S4. Ans.(c)



I.4x*-13x+9=0
=4x° - 4x-9x+9=0
=(x-1)(4x-9)=0
=x=1,9/4

IL3y*-14y+16=0
=3y°-6y-8y+16=0
=(y-2)(3y-8)=0
=y=2,8/3

5ol NoO relation

S5. Ans.(e)

L8x*+18x+9=0
=8x°+12x+6x+9=0
=(2x+3) (4x+3)=0
=x=-3/2,-3/4

IL4y* + 19y +21=0
=4y" + 12y + 7Ty + 21 =0
=(y+3)(4y+7)=0
—x=-3,-7/4

Sol.X ¥

S6. Ans.(a)

L3x" +16x+21=0
=3x°+9x+7x+21=0
=(x+3)(3x+7)=0
=x=-3,-7/3

IL6y* + 17y +12=0
=6y +9y+8y+12=0
=3y (2y+3)+4(2y+3)=0
=y=-3/2,-4/3

y>X

Sol.

S7. Ans.(e)



L16x* +20x+6=0
=8x*+10x+3=0
=8 +4Ax+6X+3=0
=2x+1)(4x+3)=0
=x=-1/2,-3/4

IL 10y* + 38y + 24 =0
=5y*+10y+12=0
=:.5};2+15}F+4}-'+12:ﬂ
=(y+3)(by+4)=0
y=-3,-4/5

X=y

Sol.

S8. Ans.(b)
L8x*+6x-5=0
=8x"+10x-4x-5=0
= (4x+5)(2x-1)=0
=x=1%,-5/4

Il 12y* - 22y +8=0
=:..5F2—11}-"+4=D
=;.ﬁ};2—3}r—8}-'+4=ﬂ
=(2y-1)(3y-4)=0
=y=1/2,4/3

V=X

Sol.

S9. Ans.(a)

.17x* +48x-9=0
=17x*+51x-3x-9=0
=2(x+3)(17x-3)=0
=x=3/17,-3

IL13y* -32y+12=0
= 13y’ - 26y -6y +12=0
= (y-2)(13y-6)=0
=y=26/13

Sol. y>x

S10. Ans.(d)



L.8x*+26x+15=0
=8x°+20x+6x+15=0
= 4x (2x+5) +3(2x+5) =0
= (2x+5)(4x+3)=0
=x=-5/2,-3/4

IL 4y® + 24y +35=0
=:-4.F2+1l]}r+ 14y +35=0
=2y (2y+5)+7(2y+5)=0
= (2y+5)(2y+7)=0
=y=-5/2,-7/2

X>
Sol. Y

S11. Ans.(a)

I.6x° +19x+15=0
=6x°+9x+10x+15=0
= (2x+3)(3x+5)=0
=x=-3/2,-5/3

IL24y* + 11y +1=0
= 24y* + By + 3y +1=0
= (3y+1)(8y+1)=0
=y=-1/3,-1/8

=X
Sol. y

S12. Ans.(c)

[.2x" + 11x+15=0
=2%° +6X+5x+15=0
=x+3)(2x+5)=0
=x=-3,-5/2

IL4y* +22y+24=0
=2y + 11y +12=0
=:.2F2+8F+3F+ 12 =0
=(yv+4)(2yv+3)=0
=y=-4,-3/2

ol No relation

S13. Ans.(e)



L2x*+9x+9=0
=2x*+6x+3x+9=0
=(x+3)(2x+3)=0
=x=-3,-3/2

IL2y* + 17y +36=0
=;2F2+8}F+9}F+3f}=ﬂ
=(y+4)(2y+9)=0
y=-4,-9/2

Sol.X ¥

S14. Ans.(a)

L5x*+29+20=0
=5x+25x+4x+20=0
= (x+5)(bx+4)=0
=x=-5-4/5

IL 25y° + 25y +6=0
= 25y% + 15y + 10y + 6 =0
= (by+3) (5y+2)=0
=y=-3/5-2/5

Sol. ¥ 7 X

S15. Ans.(a)
.3x*-16x+21=0

=3x*-9x-Tx+21=0
= (x-3)(3x-7)=0
=x=3,7/3

IL.3y" -28y+ 65=0
=;3y2—15}r—13}?+65={)
= (y-5)(3y-13)=0
=y=5,13/3

Sol. y=x



